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./0/1/ 234 565 789:;<8= > ?8@ A
B

F m C�"������ �(����� $����(
D

72 EF t = 0, x0 = −2, v0 = 7 GHI t = 14 JKLMI x NO
10 sin2(πt/6) 8 t = 0, v0 = 7 GHI t = 4 JKLMI v NP
3 sin(πx/4)Qx2 8 x = 0, v0 = 7 GHI x = 1 R JKLMI v NS
2e−v/4 4 t = 0, v0 = 3 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ __`a
2v3 18 x = 0, v0 = 1.8 GHI v = 3.6 JKLMI x N

./0/1/ 234 5b 5 c<de:8=f g f@ =f@f
B

F m C�"������ �(����� $����(
D

24 F t = 0, x0 = −1, v0 = 6 GHI v = 8 JKLMI x NO
0.2 exp(t/5)Q1 11 t = 0, v0 = 6 GHI t = 5 JKLMI v NP
8x/(2 + 3x) 2 x = 0, v0 = 6 GHI x = 4 R JKLMI v NS
3/(8 + v3) 5 t = 0, v0 = 7 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ h Ni`a
2v2(v + 8) 400 x = 0, v0 = 18 GHI v = 24 JKLMI x N

./0/1/ 234 54 5 j klfme= n o ;9@ ;p
B

F m C�"������ �(����� $����(
D

18 EF t = 0, x0 = −2, v0 = 7 GHI v = 8 JKLMI x NO
t exp(t/4) 11 t = 0, v0 = 7 GHI t = 4 JKLMI v NP
9x2/(2 + x3) 8 x = 0, v0 = 7 GHI x = 5 R JKLMI v NS
10v3 18 t = 0, v0 = 4.1 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ qr Ni`a
v2 − 6v + 5 80 x = 0, v0 = 7 GHI v = 16 JKLMI x N

./0/1/ 234 5s 5 t;uuf9kvv;: n e:;d
B

F m C�"������ �(����� $����(
D

27 w t = 0, x0 = −4, v0 = 9 GHI v = 10 JKLMI x NO
t exp(t/4) 5 t = 0, v0 = 9 GHI t = 2 JKLMI v NP
4 cos(πx/3)Q3x 8 x = 0, v0 = 9 GHI x = 3 R JKLMI v NS
9/(5 + v3) 2 t = 0, v0 = 4 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ x Ni`a
5v/ sin(v/10) 9 x = 0, v0 = 10 GHI v = 20 JKLMI x N



./0/1/ 234 5y 5 c ?fe=f cp9fv;:f
B

F m C�"������ �(����� $����(
D

84 Ez t = 0, x0 = 0, v0 = 5 GHI t = 6 JKLMI x NO
t
√

t2 + 1 11 t = 0, v0 = 5 GHI t = 6 JKLMI v NP
2 cos(πx/5)Q4 8 x = 0, v0 = 5 GHI x = 6 R JKLMI v NS
10 + v/(11v2) 6 t = 0, v0 = 10 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ _r Ni`a
12 sin(7t)− 4x 1 t = 0, x0 = 0, v0 = 11 GHI t = 0.6 JKLMI x N

./0/1/ 234 5{ 5 | kdv;o 8= c}o e~
B

F m C�"������ �(����� $����(
D

48 E� t = 0, x0 = −3, v0 = 8 GHI v = 9 JKLMI x NO
2 cos(πt/4)Q3t2 7 t = 0, v0 = 8 GHI t = 3 JKLMI v NP
2 cos(πx/4)Q3x2 5 x = 0, v0 = 8 GHI x = 6 R JKLMI v NS
11e−v/3 3 t = 0, v0 = 2 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ �`a
16 sin(5t)− 32x 2 t = 0, x0 = 0, v0 = 13 GHI t = 0.4 JKLMI x N

./0/1/ 234 5� 5 j e8:e:<8 t@ ;?8@ ;p
B

F m C�"������ �(����� $����(
D

48 E� t = 0, x0 = −3, v0 = 8 GHI t = 13 JKLMI x NO
8t/(2 + 3t) 12 t = 0, v0 = 8 GHI t = 3 JKLMI v NP
8x/(2 + 3x) 9 x = 0, v0 = 8 GHI x = 1 R JKLMI v NS
2e−v/3 3 t = 0, v0 = 2 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ _�`a
2v3 12 x = 0, v0 = 1.8 GHI v = 3.6 JKLMI x N

./0/1/ 234 5� 5 7;=f<8=d<;p cv e<df:~@
B

F m C�"������ �(����� $����(
D

18 w t = 0, x0 = −4, v0 = 9 GHI t = 14 JKLMI x NO
t exp(t/4) 10 t = 0, v0 = 9 GHI t = 2 JKLMI v NP
8x/(2 + 3x) 7 x = 0, v0 = 9 GHI x = 3 R JKLMI v NS
5ev/9 18 t = 0, v0 = 1 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ �`a
5v/ sin(v/10) 9 x = 0, v0 = 10 GHI v = 20 JKLMI x N



./0/1/ 234 5� 5 �@ Ae= > =f:
B

F m C�"������ �(����� $����(
D

18 w t = 0, x0 = −4, v0 = 9 GHI t = 14 JKLMI x NO
0.1 exp(t/6)Q3t 7 t = 0, v0 = 9 GHI t = 2 JKLMI v NP
2 cos2(πx/6) 2 x = 0, v0 = 9 GHI x = 4 R JKLMI v NS
8ev/4 8 t = 0, v0 = 1 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ �`a
3v2(v + 9) 100 x = 0, v0 = 12 GHI v = 15 JKLMI x N

./0/1/ 234 56� 5 > 8:8= n o ;9@ ;p
B

F m C�"������ �(����� $����(
D

36 EF t = 0, x0 = −2, v0 = 7 GHI t = 14 JKLMI x NO
0.3 exp(t/2) + t2 6 t = 0, v0 = 7 GHI t = 4 JKLMI v NP
3 sin(πx/4)Qx2 2 x = 0, v0 = 7 GHI x = 3 R JKLMI v NS
5ev/4 24 t = 0, v0 = 3 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ �`a
5v/ sin(v/8) 18 x = 0, v0 = 8 GHI v = 16 JKLMI x N

./0/1/ 234 5665 jk<A�:8= cv e<df:~@
B

F m C�"������ �(����� $����(
D

36 w t = 0, x0 = −4, v0 = 9 GHI v = 10 JKLMI x NO
10 sin2(πt/6) 5 t = 0, v0 = 9 GHI t = 2 JKLMI v NP
0.3 exp(x/2)+x2 9 x = 0, v0 = 9 GHI x = 6 R JKLMI v NS
11e−v/2 2 t = 0, v0 = 1 TUVWK XYUHUXMZ WUXMIVJ[M\JK][JI^ x`a
10 sin(5t)− 32x 2 t = 0, x0 = 0, v0 = 13 GHI t = 0.4 JKLMI x N

�*�
������ �
�������������� ��������� �������� rq N_q Nqr _x



�
x v v t x� ���  ¡¡¡ �¡  ¡ �¢ ¢  ¡£¤ �¡�  £¡¥ £  ¥¡¡ ¦UMJIYU§ ¨VUHZ£ ©  ¤¤¢ ¤  ¤ �� ¤  ¥¢© ©£�  ¤¡ª £  ¡¡ � «YX[JU§K ¬KH§KHK© ¥  ¥¡¡ �  �¥¥ ¢  £�ª ¡  ¡¥� �¥£  ��ª ­®¯K][§ °RIMHIL� ±¡  �©© ª  ¥¤£ ª  ��¤ ª  ��¥ �¢  £�¤ ²I\\KM®³³IJ ° [JIX¥ �©�  ¡¡¡ �� ¢ª¡ ¥  ¥£¤ �¢� ££� ¤  ££ª «VK[§K «LMK³IJK¤ ±¡  �¢¥ �£  ��� �£  £££ �¡  ��£ ©  ¥¥� ´®X³IRU§ «µR[W¢ �©ª  ¡¡¡ �  � �� �  ¡ �� £¥£�  �¢� � ¤¤¢ ­[UJ[JYU ²HIVUHIL� © ��  ¡¡¡ ª  £� � ª  ¡¢ª �£  ©¥� �¢  £�¤ ¦I§KYU§XYIL «³[YXKJWHª © ��  ¡¡¡ ª  �ª � ª  �¢¥ £  ¤ª� ¡  ©©£ ¶HZ[§ ¨§KJ�¡ £ª£  ¡¡¡ �� �ª� �  ¡©£ ¤  �¢� £¢  ¥�¤ ¨UJU§ °RIMHIL�� ± � ¤£¥ �¡  �¢© ª  ª¢¢ £  ¡�¢ ©  �©� ­®YZ^JU§ «³[YXKJWH· ¸¹ º»¼½ ¾©¿¿ÀÁ


